| N of simulated tracks vs dxy |

10*

........................................................................

10°

10?

T+ IIIII|

10

T TTTT] _I_*_I_Illlll
— e =

09—525 50-15-10 -5 0 B 10 15 20 25

N of a

ssociated tracks (simToReco) vs dxy |

1.5

1

I NI I I el I P P B s

—=— DQM_TT_CKF_
- —e— DOQM_ TT mkFit_
| N of simulated track ., bQM_TT_CKF_BDT_

— DQM TT mkFlt BDT

10*

10?

o

- |||||||||||||||||||||||||
1.0 B

§H||||||m||ll|||‘
Hit A

0936520 -10 0 10 20 30

#ﬂm{ I

b

)

-30 —20 -10 20 30



	Contents
	Page 1


